Use the given point and slope to graph the line. You must graph at least 2 additional points using the slope.  
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m = undefined





Mixed Review: 

	Evaluate the function for x = -2

f(x) = x3 -5 





	Use set notation to identify the domain

{ (0,5), (-5, 3), (8,-9),( -25, 25) }




	Simplify

-5(x +6) -10x

	
Solve for y 

2x – y = 15





	What is the formula for slope? 
	Use the slope formula to find the missing coordinate. 



	Find the slope of the line for the 



	Solve for x

2x + 7 = x + 10                                              
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